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Question Bank
&ffzF SI15@ ™ ( Elective Course )

wrfife ( Economics )

A& “a ( 7th Paper )
Developmental Economics (Advanced) & Mathematical Technique in
Economics : EEC-7

Economic development can be referred as:

FAAOF TN IS B (IR

If in 2002, GDP of India is Rs. 130 million and its population is 20,000, calculate GDP per capita.
2002 T I SRTOT GDP Rs. 130 FIfer 23 @32 1zl 20000 23, ©f2C Mg GDP el F5 |

Dual economies are what type of countries?

7 SRR (T fer S @ ?

Why does a supply side vicious circle of poverty suggest that poor nations remain poor?
NS 0 (AT RIRCATA TBHCEFE T S (eI et o1 A0 wieer?

What does Economic growth measure?

TP AR I AT IR

What assumptions does the Lewis model of the dual economy make?
TS SAISF TR0 e - F F aRefeler To7 fsHe 2

What do you mean by Structural changes?

How does Lewis model explain growth in a less developed economy?
20T AT SIS G FCHES SFAAOTO 2P ©F 27 FL?

In Lewis Model, what wage should the modern sector pay when the marginal productivity of
labour in the traditional sector is positive?
Y GIfEHIET g MTTR TRAMANTST 4IERE O SKfF (36 q Fe NG 2T FAE?

What are the Rostow's stages of economic growth?
ST Rostow-T ST 2PiCas Sawfe 20522

For Marx, when does human potential get actualised?
FARPCH GRS TR AR FLAS o 237

What is surplus value as per Marxian economics?
......................... 207 AWGFSIR STIEAT 2T T Freiiis SRER ToMa @ 9% wFel ¥a2 SR Rt

SIS T SR FCA |

Under what circumstances there will be a possibility of trade between two countries?

(I ST SRR ul (Tee ey qifevery e 232

What is not a possible cause of high fertility rates and rapid population growth?
(I S TR 992 S SRR I Pl 7% 2

How does Malthus explain population growth?

AT 9F ©F SRR TRl g e F?

What do you mean by Demographic transition?
(O SRS 0o & (30 2

What do you mean by Disguised unemployment?
W (IFRCIS SR IACS F (JR0W

When does international trade create short term unemployment?
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SEGow e T TG (I fE 27 5 2

What are the benefits of international trade?

fafeifreefer Wt (@b Ssgifes Aificey gkt a3 2
When can we multiply two matrix A and B to get BA?
WCBT Matrix A 932 B %% T FISICT BA 21871 AT 2

4_7{1 2] B [) o}
FindA-Bif 3 4 e

1 2] 5 6
I A=, . B=|. .| =W om&EABT
3 4 ;i 8

Solve the linear programming and find the value of Z.
Maximise Z =4x +y

Subject to the constraints:

Xx+y<50

3x+y<90

x,y20

Linear Program-53 T4~ 39 @32 -7 53 74 o3 41 |

Maximise Z =4x +y

Subject to the constraints:

X+y<50

3x+y <90

x,y20

A dietician wishes to mix two types of foods in such a way that vitamin contents of the mixture
contain at least 8 units of vitamin A and 10 units of vitamin C. Food ‘I’ contains 2 units/kg of
vitamin A and 1 unit/kg of vitamin C. Food ‘I’ contains 1 unit/kg of vitamin A and 2 units/kg of
vitamin C. It costs Rs 50 per kg to purchase Food ‘I" and Rs 70 per kg to purchase Food ‘II'.
Formulate this problem as a linear programming problem and what will be the minimum cost?
3G Dietician ‘Iﬁ AMRET T 97 GFh [T B TS ST vitamin content FIATF § UFF Vitamin A 932
10 €< Vitamin C 2T | 4W<E -4 2 @< / kg Vitamin A @92 1 @F< / kg Vitamin C IR | AWRF [1-9 1 9FF /
kg Vitamin A @32 2 @3F / kg Vitamin C (R, &S kg 2AMRE [-Q 296 50 BiPT @2 11-9 236 70 Bl | Gbe
Linear Programming Problem- Afere T 992 FE I FO 2T 2

A cooperative society of farmers has 50 hectares of land to grow two crops X and Y. The profit
from crops X and Y per hectare are estimated as Rs 10,500 and Rs 9,000 respectively. To
control weeds, a liquid herbicide has to be used for crops X and Y at rates of 20 litres and 10
litres per hectare. Further, no more than 800 litres of herbicide should be used in order to
protect fish and wild life using a pond which collects drainage from this land. How much land
should be allocated to each crop so as to maximise the total profit of the society ?

4l Cooperative Society-T FIFC FICR 50 (TFT G ST ACS 45 707 X S ¥ el 1 IR | X G2 Y (AT Al
IR A (237 &S IAFTA Rs. 10,500 €32 Rs. 9,000. Weeds-(F WNI& I3 &) G351 O Herbicide IR2E F41
(ACO AMF X @32 Y-&F (g IAFCH 20 FIBR @32 10 BHR (237 &fS | ORITl AR @32 IR AFHER Gy

800 fTBICE (M Herbicide IRZR 4T I 1, A &fSl (A Iey=iwiel AN TIPS 2T | ATFE society- (NG I
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Leontief’s model is open due to the fact that final demand is given from----- the system.
Leontief Model-BF Open F17¢ Final demand ST systemBa .........coooocovvveeeeenc A= |

How are the Isoquants in Leontief’s input- output model?
Leontief input output ST Isoquant @fel ?

Hawkins Simon condition explains the----- condition in Input output model

Hawkins-Simon *®53 Input Output NCOCET ... e |

If own-price elasticity of demand equals 0.3 in absolute value, then what percentage change in
price will result in a 6% decrease in quantity demanded?

A e SRR TN FBROgsIFoTe beral ST 0-3 2 ORI T X1 AT AR T 6% HifRw1 #3102

With fixed costs of Rs. 400, a firm has average total costs of Rs. 3 and average variable costs of
Rs. 2.50. What will be its level of output?

W 51 7 400 BT X Gl FICH 918 T Rs. 3 27 G2 9 ARG I R, 250 2 O G5 GRAMCA A1t

Quantity Price
5 Rs. 15
6 Rs. 15
7 Rs. 15

In the above table, if the quantity sold by the firm rises from 6 to 7, what will be its marginal
revenue?

Quantity Price
5 Rs. 15
6 Rs. 15
7 Rs. 15

@9{(d (BRI W FI0H REFET quantity 6-7 27 ©1RCH @7 2ffSF T F© 2092



